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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 4 ABC & AB = 8 FffeT #1 24 57T FREfaess seais ST # BC WD

TRt D e ¥ R DC =75 ddT @S CA o :
AT T gAY Status : Not Answered

Question |D : 9864492775

In A ABC, AB = § cm. £A is bisected internally to intersect BC at D. BD = 6 cm and DC Chesen Option -
= 7.5 ¢cm, What is the length of CA?

Ans
x 1 12 §&

12 cm

x o 12.5 FE#A
12.5 cm

v - 10 weEeR

10 cm

Q2 frmor RS i m R s e d s ) )
#ta m Fuw adesm B Cuestion |0 : 9864494078

Status : Answered
fmiter & dmge & O w7 Chosen Option : 4

F:
L i s h
2 AT 1 T agE TEREn §

Consider the given question and decide which of the following statements is sufficient to
answer the question,

‘What s the colour of the granite in the kitchen?

Statements:
1. The colowr of the granite is the colour of the wall.
2. The colour of the granite is very bright.

Ans ?{1
fodr 7T WO F 3T & & TR 1 3y 2 St warem F

Both 1 and 2 are sufficient to answer the given question.

> 2
fordr 717 o W IoT & ¥ TRT o 2 oaiew | AR e 1 woew A
gl

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

753



fdr o wee T TEAT 3N ¥ BT T 1 wofew § AR T 2 oo AE
o
1 alone ks sufficient while 2 alone is pot sufficient to answer the given question.
o
AR FRrad1dwad 2 arm i

Weither 1 nor 2 is sufficient to answer the given question.

Q.3

Ans

e wv et F § S o F T omar § 9w oaenfte
srsfrogmt R trwr i Tt &
ek &% 7

Question 1D : 9864494122
Status : Answered
Chosen Option 3

MABELA, MABLE, MABLISE, MABEPEARL, 7
MARBELA, MABLE, MABUSE, MABEPEARL, 7

If the above given words are arranged in the dictionary then the last word is:

< 1 MABEPEARL
v 2 MABUSE

< 3 MABELA

X< 4+ MABLE

Q.4

AT Iuued & SN ¥ARTE AEtE, 39 AT
Ammonium nitrate, on thermal decomposition, produces:

CQuestion 1D ;9864493170
Status : Answered

Ans ¢1 Nzﬂ}ﬂTHZD Chosen Option : 2
N;0 and H,0
x 2 NH, 3T NO,
NH; and NO,
x o NHs 3R NO
NH; and NO
X N, 3T H,0
N, and H,0
Qs

Ans

Bacl, ¥ 208 A s sfefsm e 1 50, ¥ in Rmw R RREE s
Forffa ar e Baso, i ATa st i
(STATT] AIT: Ba = 137, Cl = 35.5, 5 = 32,0 = 16)

The amount of BaS0, formed on mixing an squeoas solution of 2,08 gm of BaC1, and

Question 1D : 9864493107
Status - Not Answered
Chosen Option ;-

excess of dilute H, 50, is
{atomic weights: Ba = 137, C1 = 35.5, § = 32, 0 = 1)

X 1 23.39AH
233 g
o 2.08 AMH

208 g

| Loaams
1.04 g

2337
233 ¢

X

W

Q.8

Question 1D : 9864494365
Status : Answered
Chosen Option ;2
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The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

Q7

Ans

s i S sumATEE & aw f @ ow -wdE W e O EEe
# ¥ o AEt F B wm e # S

The Indian and Japanese Prime Mindsters have recently signed a high-speed rail project
deal that will connect Mumbai with which major city?

Question 1D : 9864492398
Status - Answered
Chosen Option : 2

751 E
Hyderabad

N 2 :
Bangalore
HgHcE

~ Ahmedabad
x 4 T ol
New Delhi

Q.8

Ans

Fhfir o msirwamsddsmra@marad ¢
(#n

s vE T A

Question 1D ; 9864494269
Status : Answered
Chosen Option : 3

7 1 FEEee e e A b
2 grEree e efa F b

Read the given question and decide which of the following argument(s) is/are comect.
Hydrogen is in a cylinder.

Argument 1: Hydrogen is in a liquid state.
Argument 2: Hydrogen is in a gaseous state.

1 Haer a1 W 2l
Only argument 1 is correct.

s | 3T 2 =t wEr 7E 2

Neither argument 1 nor 2 is correct.
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4 Only argument 2 is correct.
T a1 31 2 wEr B
Either argument 1 or 2 is correct.
“-“mﬁmﬁﬂﬁmmmmr Question ID - 9864493184
Name the type of mirror used in the headlight of vehicles: E ARG
poms Chosen Option : 3
v T gqur
Concave mirror
x , T guoT
Plane mirror
x 5 FeaeT gdoT
Convex mirror
x ; B3 gauT
Plano-convex mirror

Q10 X 3w # offaw & 9T 77 =% Twe § 59 for # 100 e
i TER & Wg 37 ¢ AT § ¥R T 100 Freinher i awer §owwe
=z =7 A Fye 50 fEEnier awa § e e fig & e X e
foam % o @w 7

Question 1D : 9864493769
Status : Not Answered
Chosen Option © -

X leaves his house facing west, drives 100 km, then tumns right and drives 100 km. He
then turns left and drives 50 km, In which direction is X facing in relation to his starting
point?

e R0l o

South west

x ; SN d
North east

X3 lld
South east

v+ SR UfEH
North west

an ﬁmﬁﬁﬁmﬁﬁm}mw%ﬂ Question ID : 9864492601

: ; Status : Answered
How many kilometres are there in one metre? Chosen Option -2

Ans x1 0.1
v 2 0.001
< 3 0.01
X 4 0.0001

Q.12 ofr WASP STINGS HARD & @%Z ¥ ¥ &, HARD TO DEAL = 265 &

7 & #iT HEAL LONG TIME =t 896 % w7 & =niw far =mmr # & HARD Question 1D :2864434364

& W W g Status : Not Answered
If WASP STINGS HARD is coded as @%Z, HARD TO DEAL is coded as 765 and Chosen Option : -
HEAL LONG TIME is coded as 826, what is the code for HARD?

Ans 1. Q

X25
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Q13 Kakadd

Question ID : 9864494035
Status : Answered
Chosen Option : 3

Fanbad X

Crciont

Football -FeeimKabaddi -FsfiCricket -fike

faw v & i F ¥ER, 3 o Y FE wE ¥ o R i
mmmgmmaﬁm‘ﬁ

Habsdd

] Q ]

k T u

Fosikal | ¥

Cncken

As per the given Venn diagram, the total number of students who play cricket as well as
foathall but not Kabaddi is .

Ans X1R
X2T
vaiv
Xap

Q.14 PemffRm A A et mt o7 & 7o, Tt wee. T St i s T
Tl S ST e i A SfEw T wne A o s e we

‘Which of the following can inhabit the mest inhabitable habitals lke ot springs, deep sea,
thermal vents and ice i Antarctica?

Question 1D : 9864493377
Status - Answered
Chosen Option : 4

Ans
o,

Bacteria

X4
Amoeba

QIS im S a s F st s e e wm &
= # FAY e A7

Ryaan is Viehaan's mother's sister’s father®s only son's son. How is Ryann related to
Vehaan?

Question 10 : 9864494341
Status : Answered
Chosen Option ;2

Ans
xi 3
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Uncle

54

Q.16 ofy Femr 441,11 gar B & s & &« = A e &7
If the mumber v4441 is divisible by 11, what is the face value of x7

Question 1D : 9864492985
Status : Answered
Ans B 1.5 Chosen Option : 2

X24
X32
Vi3

Q.17 far w3 & o Fuanat & & w9 d @ I T

FNE Rl A aﬂ‘mmmnﬂwm’rﬂma‘n Question 1D : 9864493996

Status : Not Answered
Chosen Option : -

5035=20
Select the appropriate combination of mathematical operators fo be sequentially placed
between the numbers given on the left of the following equation so that LHS = RHS,

5035 =20
Ans of 1 _ + x

XKoo x-
X3+ - x
Xax + -

Q18 Pr=fafla WAty Aot @1 ggar FUIHS 9T A A Question 1D - 9864492615
Status - Answered
129, 120, 111,102, ... Chosen Option :1

Find the first negative term of the below A P.

129,120, 111,102, ..
Ans ut
v 16 ¥ 9g
16® term
13 " gg
13% term
15 ¥ og
15“" term
14 ¥ og

14“" term

o2

X i

X4

Q19 RrAfafe & & Fia 1w 5 & ool g s 3 Question ID : 9864493569

Which of the following gases tums lime water milky? Status - Answered
Ans C02 Chosen Option -1

o
COr

r G 2

O
X 3 0O
O;
cO

CcO

r




Q.20 71 s PoFumTi A BN c S fe sr e o Tk R A Srome ARt an Question 1D - 9864492447
TV B Y ST A SR T & 500 g 3T B S aree @19 ST M C AT 2 are Skt Answersd
o 6 200 @) B 2 Pl i ameer e Chosen Option ;2
A total amount of T 1560 is 1o be divided among A, B and C such thal A gets 50% of what

B pets and B gets 20% of what C gets. How much will B get?

Ans. K 1. T 280
X 2 ¥ 540
X 3 T 440
v T 240

Q21 Ry v Fuw Ft W AW T 79 F 0 A R Tt & & st

Question 1D ;9864493902
et AT Rt A e T

Status : Answered
Chosen Option :1

FHA:
At gt §1 i e g §

e

1. o afer g=ar
2. it daar At §)

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:

All rivers are holy. All gods are holy.

Conclusion:

1. All rivers are gods.
2. All gods are rivers.

AT Y 2 IEER0T T &

Ans

G5

Only conclusion 2 follows

AT fAFY 1 3HI0T FAT §

X 2 =
Only conclusion 1 follows

AT 2 & HFEOT FA g
Neither 1 or 2 follows

17 2 gt aregeRer w1 #

Both 1 and 2 follows

v

x

Q.22 R # & Fia | v sraferes i w1 or 8 32 Question ID 9864493372

Which of the following is not the properties of an ionic compound? Status : Answered
A v FH ITAATF AT FTUATH aliaeiabs
Low melting and boiling points
x , N8 IR AT
Solid and hard

3 T ol AR FTAATHR
High melting and boiling points



, T ol S e F reee

Soluble in water and insoluble in petrol

X

Q.23 1962 F P BT, o, . T [N S F & R 6 & AR W S a
TR St R S e
The Dr. B, C, Roy awards, instituled in 1962, are given 1o eminent achievers primarily

Question 1D : 9864492345
Status : Answered
Chosen Option ;2

from which field?
Ans

X1 T
Sports

»z TR
Journalism

753 fafer
Law

v Riferear
Medicine

% Prafofle # ¥ 7l @ & R-aweer a7 g
Which of the following is a Non-Luminous body?

Question I1D ;9864493383
Status : Answered
Chosen Option : 1

Ans STETHAAT T
I
Glowing bulb
v e

Moon

D |

Firefly

| S 7% A
Burning candle

o3

X

Qg xfFramdydmzisdmwaRAysRmdfragmiawa
#n_____ &

If X has two sisters = Y and Z, and W's mother is the sister of Y"s futher, then W is Z's

Question I1D ;9864494066
Status : Answered
Chosen Option : 3

Ans .
X1 o
Mother

TR [FAT [ART [T T
v o=l R ARl Rl age
Cousin
x o SN / s
Niece
rar
Father

>4

Q.28 it R o F dars w1 T 4 3 & Afg A R dEd 2 Av b A
AT #7 warg fhaer By

The ratio of the heights of Nani and Leelu is 4 © 3. If Leehs i 1.2 e tall, then what is the
height of Nani?

CQuestion 1D : 9864492525
Status - Mot Answered
Chosen Option ; -

Ans



0.9 #Hex
0.9m
2 #Hrex
2m
V> 1.6 AT
1.6m
x4 1.8 #Aex
1.8m

Q.27 A wirer fesd # #1 8 Bem & O w1 weT §, SufF B W AT w I A 12 : :
AT N CHF T AR I WA AW RS f Ik C ¥R D W Oueahnnln_.ﬂmmza
MW AAR 5 RAA WS E A D W FH W [ A F Status : Not Answered
wAT = Chosen Option : -

A can complete a task alone in § days, while B takes 12 days to do it by herself. Together
with C it takes themn 4 days to complete the work. If C and D together can complete the
fask in 15 days, then how many days will D need to complete the task by hersel{?

ans o 1 40
X232
X 36
X ¢ 30

Q28 fy & R v Wafda A% F HUR W iy R 94 Question ID - 9864494204

Status - Answered
Chosen Option : 1

OU _ &

Select the missing figure based on the given related pair of figures.

Q.29
Cuestion 1D : 9864493906

Status : Answered
Chosen Option :1




weAfEs i SE WE HA T

Problem Figure
?
Answer Figures
A B C D

Problem Figure - I&Tmr &

Answer Figures - 3ca¥ HTpfaar
Choose the correct figure that replaces the question mark.

Problem Figure

Answer Figures

A B c D
LU S N

v:2D
X3 A
X 4B

Q.30 3wl 203w quam  RRE A sl A o & i 3 sl =
!‘lﬂﬂ‘;ﬂ‘lﬁ‘

3" January 2018 was a Wednesday. Which of the following years will also have e
3™ January on a Wednesday? Chosen Option : -

Question I1D ;9864492954
Status : Not Answered

Ans X 1. 2020
V2 2024
< 32023
X 42022




Q.3 forw s mfysr odardr & 5 B ¥ e e 2 A A e W
T FIA W ORER A7 SifAE g

Which Indian female mountaineer recently created the fastest record of scaling Mount
Everest back-to-back twice within 5 days?

Question 1D : 9864492369
Status : Answered
Chosen Option : 4

A 39T FTHTT

vi o
Anshu Jamsenpa
XE_MW
Bachendri Pal
x 3 QHGIIT 3HETer
Premlatha Agarwal
X 4 Feorar fawer
Arunima Sinha

Q.32 e s s it gE Tafte w Re AW w2 ¥ o wa
o &
Dakshin Gangetri is a research base station set up by Indian scientists, Where is it located?

Cuestion ID : 9864492130
Status : Answered
Chosen Option : 3

Ans .
x 1, o= 3T
Sundarbans Delta

_ HTTHRTEHT

Q.33 & =¥ fooofr o7 fae =% st 57 ST B R o S @ aee o
fafem 38

et

Question 1D : 9864494320
Status : Answered
Chosen Option ;4

“Tipfaw TR & A F 5 T 5 9 § AT Remen F o &
TR T AT R arr S oA At w o
HEWI

s b
1. TAFE FEIE SEEE BEAT § g §)
2. @ offdyr & wy sEfEm & e & = F oond F e i
#r g
Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
“A visit of school students to botanical garden to widen their knowledge of natural
respurces has been arranged™ — a message on the notice board in the school.

Assumptions:

1. Botanical gardens are full of natural resources,
2. School students are likely to leam more through interaction with the new
environment,

An v fafga feoaofr & ar1a@r2 8

Neither assumption 1 nor 2 is implicit.



3 fafga feoaforar 1 s 2 2T B
Both assumptions 1 and 2 are implicit.
xa fafga fecqolr aer1 21
Only assumption 1 is implicit.
, e feoaolr Faer2 &l
Only assumption 2 is implicit.

Q.34 givuy ofr e and o i oy i ow-Te i ae W g ad e O g i
AT TR W | IR TR 0

Onee-third of Poojitha” :aaﬁﬂru)wagﬂ phus one-half of her age two years from now is
twenty years. How obd is she now?

Question |0 : 9864492493
Status - Answered
Chosen Option : 3

Ans 23 %

25 years

O FrafT oA # g e A H

CQuestion ID : 9864494318
Status : Answered
Chosen Option ;1

m:m:::ﬂgﬁ:?

Find the missing word for the related pair.

Road: Car:: Sea:?

Ans 1 A5
Ship
X 2 qTAT
Water
x 3 TR
Fish
v
River

Q¥ gfr 17 x 29 = 493 g ar 170 x 0.029 = ?
Given 17 x 29=493, then 170 x 0.029=7
Ans  of 1 4.93

Question 1D : 9864492981
Status : Answered
Chosen Option : 2

X 20.493
X 3493
X +0.0493

Q.37

Question 1D : 9864493936



T FEATH ﬁq‘&ﬂﬂ' HEOT &1 9397 F71| Status : Not Answered

Chosen Option ;-

1,2, 6 120, 720

Select the number missing from the given sequence.

LI |

1,2, 6, . 120, 720
ans X 1. 50

<212

V24

X49

Q.38 ver o & e &4 HEEET B 792 s 2 m e i TR et oot weeer
——— b 5 kSl Cuestion 1D : 9864492531
A wheel has dinmeter 84 cm. The mumber of complete revolution it will tnke to cover 792 m is: Siakls ot Answerad
Chosen Option : -

Ans X 1. 330

X 2320
v 3300
< 4350

Status : Answered

Chosen Option : 2

499 27225 F1 FHS FiT T & Question ID : 9864492863
The square root of 27225 is:

Ans X 1145
V2165
X 3175
X 4155

Q.40 e & T TE HET 7 FAE TF @ WO #E A BAE ST §H AR

B e ard A wEy Question 10 : 9864493849

Status - Answered
Chosen Option : 3

Sla

Lse each of the following figures only once and form three groups. The three groups thus
formved are:

<)
Ans X 1(1,5,7), (2,3,9), 4,6,8
V2157, (26,9), (43,8
X 3(1,59), (26,7, (43,8
X 41,57, (2,6,8), (43,9

Q.41 [



T 2017 &, mEY = e i & 300 P S e sfiew & e CQuestion |D ;9864492220
Tt o &7 Status : Answered

Ravichandran Ashwin became the fastest player in the world {in terms of number of fest Chosen Option : 4
matches) to get 300 wickets in test cricket in November 2017, Whose record did Ashwin

break?

Ans
x| Hewha e
Malcolm Marshall
X2 eré m
Richard Hadlee
. ¥
Dennis Lillee

x4_§ﬁm§ﬁm

Muthiah Muralitharan

Q42 O & & Tgar 79 oig caAwd A witd gramy i Ecnc i ABGA49EEM

Which of the following will give a terminating decimal? Status : Answered
Ans X 1 B Chosen Option : 2

36

X2z

36

XSJ.E

36

Vil

36

i fofld & & Fl &1 Fua e 82 Question 1D : 9864493228
Which of the following statements is INCORRECT? Status - Answered

: Chosen Option : 1
Ans x1mmmmm§

Solids are almost incompressible
3 et & 3R HfAfaT g
) Solids have indefinite shape
3w e w A ¥
Solids are rigid
x4 3 gerat &1 3uas AfReg dar §
Solids have definite volume

v

X

Q.44 ot # 3 Fefeie B gE T Al B It eRRE A W
o w0 & Fafgs e mer f -
In plants, the carbolydrates which are NOT used immedintely are stored in the form off

Question 1D ; 9864493256
Status : Answered
Chosen Option : 2

Ans THGFT IFA
X N
Fatty acids

x o FHE FFT
Amino acids

a =

Starch

IaT

Fats

>4




Q.45 yrehrr feter & w3 s o e et F R w S B
Who is the director of Indian cinema’s highest grossing film Bahubali?

Ans -~ ) a‘i?T

Question |D ;9864492171
Status : Answered
Chosen Option : 2

x 1.
Karan Johar
7iterA ITHEE A
b =
Gautham Vasudev Menon
s AT e HEeIr
Sanjay Leela Bhansali
v T T=TAte
SS Rajamouli

Q.48 gt i ant i o S T FTe & S 2E f wn wr e A R
ez g
The work done in one complete revolution of the moon around the earth is equal to:

Ans ?{1

Question ID : 9864493102
Status : Answered
Chosen Option ; 3

W&wmxﬁmﬂmaﬂm

gravitational force = diameter of the orbit of the moon
F

TRATERIUT e « TEAT B AT Y TR

gravitational force = circumference of the orbit of the moon

v %l:u_-ﬂ'
Zero

X 4
FeRI AT FoT x TSHT Y et 1 =

centripetal force  radius of the orbit of the moon

QA7 31fy & Z@T FARUT ZaRT fFes @9 waw @ g I E

The second equation of motion gives the relation between:

Question 1D : 9864493500
Status : Answered
Chosen Option :3

o 1 3T 9
o

Position and velocity

v . B AT 'R
Position and time

, 39T AR c&or
Velocity and acceleration

4aﬂ3ﬂtm

Velocity and time

x

X

Q48 RER & STRETAN (FEY 2018 F) Fiw 82
Who is the Deputy Chief Minister of Bihar as of February 2018?

Question 1D ;9864492397
Status : Answered
Chosen Option :1

Ans ‘, : gam W mﬁ.
Sushil Kumar Modi

x o T ey arHae
Ram Vilas Paswan



Ewmm

>

Lalu Prasad Yadav
F 3

Shatrughan Sinha

Q.49 7g 7 766 A T ol & o2 ¥ %157 ST &9 T ToEtr @ TR
HFw far o

Adfter buying a toy for T 66, Raghu managed to sell it at a profit of 15%. The selling price
of the toy was:

Question 1D : 9864492969
Status : Answered
Chosen Option : 3

Ans: K4 T75:20
< 2%70.80
v %7590
X ¢ ¥76.90

Q.50 fFrafafas sl & 7 #wa gu Avila &t @ 599 aw & a7 T
AEF T B AT F F

Question 1D ;9864494293
Status : Answered
Chosen Option : 2

N o U wE w7 AW g R

Conclusions:

1. 5 #r sk, FgEw @ R
2. W #r g FEEmmE A

Consider the given statement 10 be true and decide which of the conclusion{s) logcally
follow(s) from the statement.

Stalement:
Weight is also a Force.

Conclusions:

1. The unit of weight is Newton.
2. The umit of weight is Kilograms.

Ans x-.
forssrd 1 3l 2 2t & argeRoT T A B

Neither conclusion 1 nor 2 follows.

Faer ey 2 & HET AT g
Only conclusion 2 follows.

| fosd 1 sk 2 @t srgeRor A

Both conclusions 1 and 2 follow.

Faor AR 1 g AT FLT g

Only conclusion 1 follows.

~ o2

x

v

Q.51 fafafas # # ¥ & #iF & e & 3w 2018 & witefs sk
et i
Which of the following films is India's official entry to Oscars 20187

Ans ,—..u@ﬂ'

Question 1D : 9864492292
Status : Answered
Chosen Option :1

W
Newton



P 3y T T AA
A Death in the Gunj
{eT AT
3 forafees 33T A7 g
Lipstick Under My Burkha

o

Bahubali

X

X

% fega A & S| S FT 82

The SI unit of electric charge is:

Ans choldd
Vit

coulomb
TR

ampere
r. g} aree
volt
HH
ohm

N2

4

Cuestion |0 : 9864493285
Status - Answered
Chosen Option : 1

Q.53 fr=fafem & ¥ win 77 vs urg 3 3 90 & v F f A =
Which of the following does NOT act as both, metal and nonmetal?

L X 1 A+

Arsenic

v, 3
Boron

753 far
Bismuth

x ; TR
Germanium

Question 1D ;9864493151
Status : Answered
Chosen Option : 2

Q.54 x5 fawes = OO &1 = Seeaten Oy F et £ w5 oo

A

Select the option that represents the number of triangles in the following figure.

A

Ans x-. 15
X212
v'316
X 417

Question 1D ;9864493979
Status : Answered
Chosen Option : 2

Q.55




m ﬁ alia.,m ﬁ aﬁ, %I Question 1D : 9864493458

Status - Answered

is not an endocrine gland in humans. Chesen Option : 2

Ans -
 , O RID)
The adrenal gland
X ; 9w a1fY
The pituitary gland
ofrarfay
The pineal gland
W E
The liver

g

Q.56 '
Frafafes # ¥ #t7 @ fwes e e fw & wf odor sl & oof 2 Question 1D : 9864493975

Status - Mot Answered

15UP5062 Chosen Option : --

Which of the options depicts the commect minmor image of the given figure?

15UP5062

™ v:830equet
x> 2605PUS1
x:5062UP15
x+S905qUP51

Q.57 wfefr siogw & Tt & wed wiew Wt # & vw o afweT v _ ;
¥ = AR ST W AR EAT T O Age WeoT R um Question ID : 9864492137

Ll ) Status - Answered
COme of the most fanous speeches in ULS, Presidential history 15 *The Gettysbarg Address”,
Name the US President who gave thiz epochal speech. Chosen Option : 4

Ans x1 H"{H. UF. m
John F. Kennedy
v . TR o
Abraham Lincoln
x , PRI T
Theodore Roosevelt
| Sst arfRTes
George Washington

X

Q.58
Question 1D : 9864494331

Status - Answered
Chosen Option : 2




Ans

FH ¥ & g wpfadr F ¥ Bew F1 97 FY

13 23 20 10
M W E 3

1 2 3 4

Select the odd figure out of the given series.

13 23 20 10
M W E J
1 2 3 4

vi3

X221

X 32

X 44

Q.59

Ans

Forra 1 AT T FEar 2

What does Coulomb’s Law state?
,f 1

Question 1D : 9864493386
Status : Answered
Chosen Option ;1

2t fifg st & mor smedor (T sfEedon & o= F ofmor 2 smd #r
A & sEAEE @ § i s A & g F = & e e
#

The magnitude of the force of attraction (or repulsion) between two point charges is
directly proportional to the product of the quantity of the two charges and inversely
proportional 1o the square of the distance between them.

Xz
21 fifg sl i AT AT (I ST oW E ST 2 A #r A
¥ TUEET F WA I @9 # g F 99 F sgewa @ f
The magnitude of the force of attraction (or repulsion) between two point charges is
inversely proportional to the product of the quantity of the two charges as well as to the
square of the distance between them.

5 a
2 firg it & o T (I ST & Tw w a2 s #r
A & sgewenp fte § i s i o gf B o & s d
¥l
The magnitude of the force of attraction (or repulsion) between two point charges is
imversely proportional to the product of the quantity of the two charges and directly
proportional to the square of the distance between them,

75 4
a\ﬁgmﬁﬁmmfmuﬁﬁiﬂn#mwmamﬁ
RIS & WA 3AE @ & g F o e i d
The magnitude of the force of attraction {or repulsion) between two point charges is

directly proportional to the product of the quantity of the two charges and to the square of
the distamce between them.

Q.60 g% wiaad s e W W AT F gAnir 2 A o FAA A 2

Ans

732 & Fr B RafEe £ o gerfi e o

A sum of money invested for 2 years and @ months at the rate of §% simple interest per
annum became € 732 at the end of the period. What was the sum that was initially
invested?

Question 1D : 9864492687
Status : Not Answered
Chosen Option ;-

v 1 ¥600
X 2¥575
X 3 T 550
# 4 ¥ 500



Q.61

Ans

e # 7 =i w1 Towew e v e i T = w2

F:
EE & o & = gnfr g §
Which of the following options correctly describes the given statement.

Statement:
There are four rooks in a game of chess,

X

Often
X2 Feft T
Never
T FAT
Sometimes

gHem

Always

753

v

CQuestion |D : 9864493925
Status - Answered
Chosen Option : 4

Q.62 o, fratme a9 & o e Ton Tl @ oo s § 9w mE e e

Ans

& i & Pl ¥ A e & ww & e A w e dem =0
Hrzr wiE oo #)

A ball of 0.1 kg is dropped from rest. When it falls through a distance of 2 m, the work
domse by the force of gravity is (g = 9.3 m/s?);

1 0.98 STeT
0987
—0.98 T

X2 o
—0.987J
—1.96 ST

i i o
-1.967J

v 1.96 ST
1.967

Question 1D ;9864493222
Status : Answered
Chosen Option : 1

Q83 Prafaf aml # ¥ FweT STAY] gear e Jad &5 82

Ans

Which one of the following elements has the lowest atomic mass?

F
Lithium
X2 E
Nitrogen
/5 A E
Helium
I GESEC
Hydrogen

Question 1D : 9864493233
Status - Answered
Chosen Option :1

Q.64 ard s & fr 3w F €T 6 W W AT F) SE T 30 TR WA TR

Ans

@#Mﬁmﬁ.mﬁmwswmmm%m #r 3\
& 5 T I aOAE IR A gt
The difference between Charles® and Shriya®s ages is 6§ years. When they married each

other 30 years ago, 4 times Charles’s age was the same as 5 times the age of Shriya. What
is the current sum of their ages?

Question 1D : 9864493033
Status : Answered
Chosen Option : 2




‘,11143&

114 years

2 110 I
110 years

: 115 I
115 years

x4_112a&

112 years

X

X

Q.66 7f ABCD v FHwFE T § AC 3T BD 3WF T gt @ fig o W afaete
A et 8 AcBD

I ABCD is a trapeziam, AC and BD are the diagonals imersecting each other st point O,
Then ACBINis

Question 1D : 9864492618
Status : Not Answered
Chosen Option : -

Ans 1. AD:BC
X 2 AB+AD:DC+BC
X 3 AB:CD
+ ¢ AO-OC:0B-0OD

Q.66 A

Question 1D : 9864492695
Status : Not Answered
Chosen Option : -

E

e AT B T A A S e E R D W
firn ofr AB = 5 #fwier @ At DE = 6 #fnder @ & B0 & sk 7w
=

A

E

In the circle above, chord A is extended to meet the tangent UE ar D If AB = % cm and
DE = & cm, find the length of BD.

Ans 4
i A

4 cm

x:aaﬁﬂv-ﬂa
6 cm

3{3_nﬁ'aﬁ1a

V30 em
x4_5ﬁa1nar

Scm

X

QBT wralt 2018 7% 9. A §f & g e wferd (deh e i
Wha is the Chief Executive Officer (CEO) of JP Morgan India as of February 20157

3T HATHFHOTA
o= |

Ans

51

Question 1D : 9864492214
Status : Answered
Chosen Option :3

Usha Ananthasubramanian
x 2 S IC-Cr=-re-1
Shanthi Ekambaram
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Naina Lal Kidwai
e
Kalpana Morparia
Q.68 [y | e | i vy | aTE o | TR A
W
A 200 150 50 -
B - 200 100 656
C 150 &0 100 -
D 120 . 20 25

fow v wwE & wuR o, AR aEd # g e e & g afe,
T G o Qo #

City | Population | Literate | Iliterate | %o of
literates
A 200 150 50 -
B £ 200 100 66,6
C 150 50 100 -
D[ 130 = | % FL]
Based on the given data, the total percentage of literates in the four cities together, round
to one decimal. is
Ans X 1. 559
v 2558
X355
X 4 557

Question 1D : 9864494001
Status : Not Answered
Chosen Option © —

Q.69 fFrmfafes e # ¥ 39 o oF, ST O F Siaioe S 7
Which one of the following triad represents Dobereiner’s Triad?

Ans O 1. Li, K, Na

X 2 Na, Sr, Br
2 Li, Na, K
N4kl Ca, Gl

Question 1D : 9864493354
Status : Not Answered
Chosen Option ;-

Q.70 wurelt =ad & T & B v wmd groen, swer i fR ey @
wfear =t =97 F=gr 7T £7

The process of taking up a permanent shape, size and function to form a permanent tissue
is called:

Ans v fasier (differentiation)
differentiation
x 2 o= (formation)
formation
3 THHIOT (unification)
unification
X4 WEFTUT (calcification)

calcification

Question 1D : 9864493195
Status : Answered
Chosen Option ;1

a.mn

Question 1D : 9864492849
Status - Mot Answered
Chosen Option ;-




Tw FeqeET AW A, fewr it fnaws ) 3 Beew 20 ) W A g
EA ¥ Ont ¥y v dEn wanr f s aw § ool ol o w1
#r FfEr w3 §) fresdt & F oo, 15 9 F wed dem o R w
Al s T R S A e f A e
MmN e st e TRt A s daw
A #1 e @ fnEwe w7

In a computer game, there are builders and destroyers. Together there are 20 of them.
Some of them try to build a wall around a castle while the rest try to demolish it. Each of
the builders can build the wall alone in 15 hours while any of the destroyers can demolish
it in 10 hours. If all 20 builders and destroyers are made active when there is no wall and
the wall gets built in 3 hours, how many of them are destrovers?

Ans J B
X25
X327
X448
A7 w7 wHg ¥ faww gl gl Question 1D : 9864493799
Status - Answered
Chosen Option : 2
@ T
E\ | —
A B e =

Select the figure which does NOT belong to the group.

’
= ==

A B c D
Ans X1B
VA
X3D
X4+C

S¥

Q73 R met 3 A Fiw Bl w7 v gaw afy ) o &7
Which of the following is a velocity—time graph for uniform motion of a car?

Question 10 : 9864493479
Status : Not Answered
Ans 5 1. Chosen Option -
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Velocity (ms™')- &=1 (FreT 9fa ¥3)
Time (s)- AT (T3)
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¥
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Velocity (ms™)- 391 (e 9fa ¥3)
Time (s)- ¥AT (TH3)
F
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Velocity (ms™')- 3T (FeT vfa @3)

Time (s)- 8T (T+2)
54
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£
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-
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] e 11 o n -

Time iny

Velocity (ms™)- =1 (HeT 93 @=3)
Time (s)- AT (W+E)

Q.74

Question ID : 9864493997



for sgeR & 39 el & d e f Tees 8 e o v E e Status : Answered
&F wE # o a8 Chosen Option =3

SMBANNZBI0SICEP+D2

The number of letters that are precedad by a symbol but pot followed by a manber i the
Ziven expression is

SMEANNIBAOLICSP+DI
Ans (1 0
X223
X1
x4 4

Question 1D : 9864492839
Status : Not Answered
[38-(60 + 5 x 16— B+ 2+ 3)} =7 Chosen Option : -

Solve the following.

{38-(60 + Sx 16 — 8 + 2 + 3)} =2
Ans ?(1-39

X229

X 337

V2




